H & 0l & AHS B Ml A

20233 =0llah LB oS 2022-12-30 10:47:08

SN IS

. Hd =8

el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
G&ItEL 165,308,903 154,253,888 11,065,015
= 102,349,207
[ 934,594
Jl 2,389,342
< 19,726,598
Al 39,709,162
CH 200,000
od=Xsd 4,908,621 5,997,598 /1,088,977
= 896,436
Il 1,969,657
= 9,777
Al 1,322,751
Heg=sxsd 3,510,7%4 4,707,745 21,196,951
= 846,961
Il 1,476,267
s 445,668
Al 741,898
HEIIEEE g2 K& 21,703 21,703 0
201 2= 15,303 15,303
01 At22t2l] 16,222 15,222
O et=ZH| 8,382
OANRES & HuEH 225 7Y
8,382,000& 8,382
Ol =] 400
OEZFHIZY LI=H(S2A)
400,000& 400
o=l 6,440
OWgII=E gy 6,440,000& 6,440
2 55234l 81 81 0
02323 LAl 81
OHARS 81,0002 81
202 04| 6,400 6,400
01 =LHO LI 6.400 6.400
OOEN=EEH HRFXN 6,400,000 6,400
e SXST A =& 66,569 69,416 N2,847
201 er2&| 20,316 22,316 22,000
01 At2teltl 10,316 10,316 0
O eS| 6,546
OUEYR=I MRES 7
1,946,000 1,946
OZHML (L3S, SN, 823 JtZER)
EE2EE 78 £ A 4,600,000 4,600
O2g+< 2,850




2A:

Ol&ot=0t

HE: =TS
el Hd=As (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OYHBSIAL HAAY
70,0002 x6H*23 840
OZ2A Y DS (L4512, HIH0Y, H=2 IHH
=) 2Ag 1,380,000& 1,380
OHBIE AR! EMFIRS
70,0003 *2H *33| 420
OH35IE At DEAARAS
70,0002 3% *13] 210
o=l 920
o0y ARFAl 920,000 920
03 At2gH] 10,000 12,000 22,000
OHEEY 2NE 10,000,000& 10,000
202 Ot 1,400 2,400 21,000
01 =WO4bI 1,400 2,400 A1,000
O HR=E 1,400,000& 1,400
301 LPENF 13,500 13,500
11 HALAHIXI A2 13,500 13,500
OX= (Halial &4 24
1,000,000& 1,000
OF= GEXISR U8l &4 Ba
1,000,000& 1,000
O=2 Ljua ZAsE
10,000,000& 10,000
OX2SAtEs &4 24 1,500,000& 1,500
307 QIZ2t01A 31,353 31,200 153
03 QX HE2GHIE X 9,153 9,000 153
O&HMEs 29 9,153,0002 9,153
11 ABI =S XA X 22,200 22,200 0
YHBST I FHBA 2 BOISOHE
9,900,000& 9,900
OALZ R0l LI 3,600,000& 3,600
OAZ0) 2BUSEH 4,000, 0002 4,000
O22S HAU 823 21S)| A58
XA got=et” 4,700,000 4,700
oG MBI O ET(EX) 13,150 13,150 0
& 3,600
Al 9,550
307 QI2Hol 13,150 13,150 0
& 3,600
Al 9,550
11 Al =SXAMEES 13,150 13,150 0
OWECH L3t At
13,150,000 13,150
= 3,600
Al 9,550




SN OlEIIED
M d=EXSE
el od=Xsd (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ARG EAEL 21,690 21,690
201 LB-2AH| 16,890 16,890
01 AtR2telt] 8,040 8,040
OLe=2| 2,640
O HEIIETISIC| SOIEUE AIAE 2
=ei]a] 160,000 * 10 A% 124 & 1,920
OWAZISIEAl HRFE AIRESE 7Y
720,000& 720
OREn=| 4,000
OGMZIBITAl BHLE 9T
4,000,000& 4,000
0=2g4+g 1,400
OOIMRIBICAl ZHSIRE 2
70,0002 x 10 23] 1,400
02 32| 4,850 4,850 0
OAE&EHIR XY 4,850
O HIIEESE AERKXIHI
4,850,000& 4,850
03 HAL2 G| 4,000 4,000 0
ONAERSTAl MEHZE /IS
4,000,000 4,000
202 0idl 1,300 1,300
01 =LHO4 b 1,300 1,300
OHYZISEA FRFX 1,300,000& 1,300
301 LPENF 1,500 1,500
11 SHALAHIXIAZ 1,500 1,500
OHEZISEA 28 B4 1,500,000& 1,500
303 ZAS 2,000 2,000
01 Z&32 2,000 2,000
ONHERSTA 2 24 L&
2,000,000& 2,000
AEHS 2 JEHIASHEHAEI WS (EX) 2,000 2,000 0
& 667
Al 1,333
201 L2 AY| 2,000 2,000 0
T 667
Al 1,333
01 A=R2teld| 2,000 2,000 0
O2et=2H| 2,000
O8EISEI W= 2,000,000& 2,000
= 667
Al 1,333
Ors¥=Hl X2 (SHRL2IIEXNE)N(EX) 1,695,537 1,493,052 202,485
J| 1,356,429




2A:

X XH -
o=

PP/
CREEINESS

el Hd=As (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 169,554
Al 169,554
301 LB 1,695,537 1,493,052 202,485
| 1,356,429
= 169,554
Al 169,554
NEEEEES EIEREESE) 1,695,537 1,493,052 202,485
OHAS B22IIE T LS| S X2
1,695,537, 0002 1,695,537
Il 1,356,429
= 169,554
Al 169,554
OFSYsHl N (FAE 822 X)) (BX) 14,524 17,669 N3,145
p 1,620
= 1,452
Al 1,452
301 LEHPED 14,504 17,669 A3, 145
p 11,620
= 1,452
Al 1,452
N EEEEES EEREESE) 14,524 17,669 A3, 145
04U B2 XY N
14,524, 0002 14,504
p 11,620
= 1,452
Al 1,452
HAS BEILE MEXXR(2E) 206,210 201,000 5,210
= 61,863
Al 144,347
301 LB 206,210 201,000 5,210
= 61,863
Al 144,347
0 MBI EERSHD(HAHES, L) 206,210 0 206,210
ONAS B22I1E MY X2
206,210,002 206,210
= 61,863
Al 144,347
NEENEIGES 1,201,373 835,715 35,658
2 840,961
= 144,165
Al 216,247
307 Q1201 552,632 835,715 283,083
2 386,842
= 66,316

~
|




SN OEIIED
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 99,474
11 AMEISXAEEXS 552,632 835,715 283,083
O00IE3 MHIAKIA 23]
552,632,000 552,632
= 386,842
= 66,316
Al 99,474
308 AHAIEHMSOIE 648,741 0 648,741
= 454,119
= 77,849
Al 116,773
1 SIS0t HAS A 648,741 0 648,741
OO0ISE AHIAOIR &2 K82
648,741,000 648,741
= 454,119
= 77,849
Al 116,773
OlOIS20l B4l X (EX) 8,250 8,804 N5
s 2,475
Al 5,775
307 @I2t01 & 8,250 8,804 A54
& 2,475
Al 5,775
11 AMEISXAEEES 8,250 8,804 A554
OO00ISE0| Exu=H| XA
8,250,000& 8,250
= 2,475
Al 5,775
OlOIS 20| HAB A XA (EX) 1,500 1,800 A300
=S 450
Al 1,050
307 21201 & 1,500 1,800 A300
S 450
Al 1,050
11 AMEISXAEEES 1,500 1,800 A300
OOt0IZ 20| AZz8d| XA
1,500,000& 1,500
= 450
Al 1,050
HE3H JIEEY dg4 2XJ(EX) 139,152 134,098 5,054
Jl 69,576
= 34,788
Al 34,788
307 elztol & 139,152 134,098 5,004




A HAIED
HE: =TS
el Hd=As (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 69,576
= 34,788
Al 34,788
11 AMSIESXAEEX 139,152 134,098 5,054
O4=2 yEA 2YXIR
139, 152,000& 139,152
| 69,576
& 34,788
Al 34,788
SHEAMNEA 29 FIIS(EX) 21,644 18,904 2,740
= 6,493
Al 15,151
307 212+01 A 21,644 18,904 2,740
& 6,493
Al 15,151
11 AR SXAMEES 21,644 18,904 2,740
OS2 Mg 2% X
21,644,000 21,644
& 6,493
Al 15,151
SEAUIoHA 2l=2H], 28| XJA(Bx) 3,400 4,000 AB00
| 2,380
& 510
Al 510
307 gI2Hol ™ 3,400 4,000 AB00
| 2,380
& 510
Al 510
11 AL =SXAMEES 3,400 4,000 A600
O&=E TIoHAt 2 24| 3,400,000& 3,400
J| 2,380
& 510
Al 510
SAZHT|GHA X2 ,32T2 )8 (8EX) 10,418 10,418 0
J| 7,293
= 1,562
Al 1,563
307 212+01 A 10,418 10,418 0
| 7,293
= 1,562
Al 1,563
11 Al SXAMEE R 10,418 10,418 0
O&=E Ik XIg23s T2 29
10,418,000 10,418

_6_




SN OEIIED
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 7,293
=S 1,562
Al 1,563
e =g SAA HRMHA(EX) 6,480 6,480 0
< 1,944
Al 4,536
307 lztol & 6.480 6.480 0
= 1,944
Al 4,536
11 AMEISXAIEEES 6,480 6,480 0
OOEZSNEA AL 22
6,480,000& 6,480
= 1,944
Al 4,536
JHFEE™ oA XI23s 2208 2 o=H| XIJA(E 1,960 1,960 0
z)
Jl 1,372
=S 2%
Al 2%
307 21201 & 1,960 1,960 0
Jl 1,372
= 2%
Al 294
1 AMISXAIEEXS 1,960 1,960 0
OIS =S TcHA 2 28] X2
1,960,000& 1,960
Jl 1,372
= 2%4
Al 294
OlSHELEXAAUR S (EX) 1,800 1,800 0
== 540
Al 1,260
307 212+01& 1,800 1,800 0
== 540
Al 1,260
11 AMEISXIAEEES 1,800 1,800 0
OO0, ({48 otd X9t =28 K&
1,800,000& 1,800
= 540
Al 1,260
BSS0tL=H 2F(ExX) 55,194 54,846 348
Il 27,597
= 11,039
Al 16,558




SN OEIIED
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 55,194 54,846 348
Il 27,597
== 11,039
Al 16,558
1 ABIS XA EE 55,19 54,846 348
0ZES0ILISE 29 X2
55,194,000 55,194
J| 27,597
== 11,039
Al 16,558
SSS0LIsH SAL =H(EX) 2,240 2,240 0
= 672
Al 1,568
307 212t01 & 2,240 2,240 0
= 672
Al 1,568
11 AMEISXAIEEXS 2,240 2,240 0
OSSS0UsH SAHL =8
2,240,000 2,240
== 672
Al 1,568
HAEHRD ots=H| XJ(EX) 12,000 0 12,000
= 6,000
s 2,400
Al 3,600
301 EtE NS 12,000 0 12,000
= 6,000
= 2,400
Al 3,600
01 Al EE A S (FRNEXA) 12,000 0 12,000
OZ4Ad 20 0l 284
12,000,000& 12,000
= 6,000
= 2,400
Al 3,600
HEZHAGA SALL YERIHH X (2X) 1,600 0 1,600
== 480
Al 1,120
307 212+01& 1,600 0 1,600
< 480
Al 1,120
11 AMEISXAEEES 1,600 0 1,600
ONEEAAEA SALL BE JOHH XA
1,600,000 1,600

_8_




SN OEIIED
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 480
Al 1,120
FOIME oty E84Y NY(EXR) 2,400 0 2,400
= 720
Al 1,680
307 gl2to| & 2,400 0 2,400
=S 720
Al 1,680
11 ARRIS XA E X 2,400 0 2,400
O3 0tdE oty =5+ X
2,400,000 2,400
== 720
Al 1,680
22018 & U238 ots 85 X3 1,397,827 1,289,853 107,974
= 49,475
Jl 493,390
S 274,109
Al 580,853
A2HE & UEIE ARISE AE At 26,060 25,500 560
201 etz 3| 560 0 560
01 AtR2te|HI 560 0 560
OU=2IEXEE2S A 4+E
70,0002 x8H *13] 560
307 elztol & 25,500 25,500
11 AMEISXAEEES 25,500 25,500
OUEst =8 S0t 13,500,000& 13,500
OC=3LE "2 ZAL] HoI==I|"
12,000,000 12,000
JIEMYH 2E(EX) 580, 180 528,280 51,900
Jl 290,090
= 87,027
Al 203,063
307 gl2to| & 580,180 528,280 51,900
Jl 290,090
= 87,027
Al 203,063
11 AMEISXAIEEXS 580, 180 528,280 51,900
OIEdYH =29 580, 180,000 580,180
) 290,090
< 87,027
Al 203,063
HHes o UM & S2usAHIA X3 (EX) 165,735 163,008 2,721
Il 82,868




2A:
X XH -
o e

=aak

Ol&ot=0t
od=Xsd
22018 € G238 J1E 3% X3

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,860
Al 58,007
307 lztol & 165,735 163,008 2,721
Jl 82,868
== 24,860
Al 58,007
11 AMEISXAEEES 165,735 163,008 2,721
OLE3IE SEUF AIY
165,735,000 165,735
Il 82,868
== 24,860
Al 58,007
CI23IE Atdl2el(BX) 37,017 35,850 1,167
Il 18,509
== 5,553
Al 12,995
307 212+01& 37,017 35,850 1,167
Jl 18,509
= 5,553
Al 12,995
11 AMISXAIEEXE 37,017 36,850 1,167
OLUZ2HE Atell 2l 37,017,000& 37,017
Il 18,509
= 5,553
Al 12,955
ZE0I12T ALK H(EX) 24,500 20,000 4,500
Jl 12,250
= 3,675
Al 8,575
307 el2to| & 24,500 20,000 4,500
Jl 12,250
= 3,675
Al 8,575
11 AMEISXAEEES 24,500 20,000 4,500
O&t=0 wW=sJ|12 29 24,500,000& 24,500
Jl 12,250
[ 3,675
Al 8,575
ZEO0IYUX SHAMHIA KB (EX) 65,626 63,576 2,050
Jl 32,813
[ 9,844
Al 22,969
307 lztol & 65,626 63,576 2,050




2A:
X XH -
o e

=aak

Ol&ot=0t
od=Xsd
22018 € G238 J1E 3% X3

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 32,813
T 9,844
Al 22,969
11 AMSIESXAEEX 65,626 63,576 2,050
OZ=0|2K SHAAHIA
65,626,000 65,626
| 32,813
T 9,844
Al 22,969
0IE820 JIFSAFAXH(EX) 35,031 33,943 1,088
| 17,516
& 5,254
Al 12,261
307 212+01™ 35,031 33,943 1,088
| 17,516
& 5,254
Al 12,261
11 Al =SXAMEES 35,031 33,943 1,088
DWELIVIBIESTE N
35,031,000& 35,031
| 17,516
& 5,254
Al 12,261
Ch23E Ea0ge X2(Ex) 78,683 75,316 3,372
| 39,344
& 11,802
Al 27,542
307 212+01 ™ 78,683 75,316 3,372
J| 39,344
= 11,802
Al 27,542
11 AR SXAMEER 78,683 75,316 3,372
OCO2eE JEHAHEE K&
78,688,000 78,688
| 39,344
= 11,802
Al 27,542
IIEHIE SAIATA(EX) 37,200 35,000 2,200
& 11,160
Al 26,040
307 212+01™ 37,200 35,000 2,200
T 11,160
Al 26,040
11 Al =SXAMEES 37,200 35,000 2,200

_11_




2A:

X XH -
o=

PP/
EREEINESS

chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIISHE SARIE X3
37,200,000& 37,200
= 11,160
Al 26,040
JIEHYH BAA SXE X3 (EX) 50,200 42,880 7,320
== 15,060
Al 35,140
307 212+01& 50,200 42,880 7,320
[ 15,060
Al 35,140
11 AMEISXAEEES 50,200 42,880 7,320
OFSHE SAX =X4
50,200,000& 50,200
= 15,060
Al 35,140
2Z20tsslY 29(Ex) 122,700 121,300 1,400
s 42,945
Al 79,755
307 212+01& 122,700 121,300 1,400
[ 42,945
Al 79,755
11 AMEISXAEEES 122,700 121,300 1,400
O==22 =4 248 A&
122,700,000 122,700
= 42,945
Al 79,755
ZE0I12N MPEHNF(EX) 11,000 11,580 2580
=S 4,400
Al 6,600
307 21201 & 11,000 11,580 A580
< 4,400
Al 6,600
11 AMEISXAEEES 11,000 11,580 A580
OZE0/0IN HAEH DS
11,000,000 11,000
= 4,400
Al 6.600
ZEOIRX SATZAML(EX) 6,100 8,000 21,900
=S 2,440
Al 3,660
307 @12t01 & 6,100 8,000 1,900
== 2,440
Al 3,660
11 AMEISXAEEES 6,100 8,000 A1,900




SA: 018D
33 od=Nsd
chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZE0(0I% StXE Ate]
6,100,000& 6,100
= 2,440
Al 3,660
U223 F4ad MZ2XJ(EX) 7,000 7,000 0
== 2,800
Al 4,200
307 212+01& 7,000 7,000 0
[ 2,800
Al 4,200
11 AMEISXAEEES 7,000 7,000 0
OL2s 44 ZZ X
7,000,000& 7,000
= 2,800
Al 4,200
CH230tE DEUE0| XIR(EX) 32,000 16,000 16,000
s 9,600
Al 22,400
307 212+01& 32,000 16,000 16,000
[ 9,600
Al 22,400
11 AMEISXAEEES 32,000 16,000 16,000
OUEEIE DELIS0l At
32,000,000& 32,000
= 9,600
Al 22,400
FHet 201 JIEXE(EX) 98,950 97,620 1,330
= 49,475
= 24,737
Al 24,738
307 elztol & 98,950 97,620 1,330
= 49,475
= 24,737
Al 24,738
11 AMEISXAEEES 98,950 97,620 1,330
OF <t 2010t= K& 98,950,000 98,950
= 49,475
< 24,737
Al 24,738
s Y XM 22U X (EX) 5,000 5,000 0
= 1,500
Al 3,500
307 elztol & 5,000 5,000 0
= 1,500




2A:

Ol&ot=0t

33 od=Nsd
chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,500
11 ABI= XA 2 X 5,000 5,000 0
02128 JIE 4 2208 N
5,000,000& 5,000
== 1,500
Al 3,500
AU NHELU2IE MIISEXAMS(EX) 10,000 0 10,000
= 10,000
307 @I2to| & 10,000 0 10,000
== 10,000
11 AMEISXAIEEXS 10,000 0 10,000
O2(=0 =PI EE N3 At
10,000,000 10,000
=S 10,000
12007 =1 td 22 X0l AHF(2X) 4,840 0 4,840
= 1,452
Al 3,388
301 EtE NS 4,840 0 4,840
=S 1,452
Al 3,388
01 ARRI2HHSHS(SDERHE) 4,840 0 4,840
O120t7 = otd & XZ0l At
4,840,000 4,840
S 1,452
Al 3,388
Ll NS 130,883,096 120,146,210 10,736,886
= 89,600,835
= 241,911
< 11,385,225
Al 29,655,125
LOIEXAIE &5 1,633,360 1,859,040 A\225,680
d2d & st=tel =28 JIs2Ed 1,060,380 1,131,760 AT71,380
201 er23 | 2,760 2,760 0
01 At2t2lt] 2,760 2,760 0
O +=ZH| 2,760
OZZY % et=Etel &= & YR=A
2,760,000& 2,760
401 Al HIZ R 0HHI 100,000 100,000
01 AlZ28| 100,000 100,000
O3z & et=SEkel &= & MHEs
100,000,000 100,000
402 QI2F X201 & 957,620 1,029,000 AT71,380
01 QI X2 AL E X (KEMITHE) 957,620 1,029,000 AT1,380
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2A:

Ol&ot=0t

M Lol=XEX
oelr LOSIAE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3d=zd & st=tie] 859 & JIsEd A
2 A 800,000, 0002 800,000
OZ2g U BiSER| #=0 & BHYY &5
A2 157,620,000 157,620
NS ANg (g2t #5828 28)(d 216,000 216,000 0
EALY)
402 BIZtAH=01H 216,000 216,000
01 QI X2 AL E A (KHMITHE) 216,000 216,000
OS2t 852 & AREd JISEH . &
HI2Z At 216,000,000 216,000
E=TAE JIsE2 256,980 140,280 116,700
201 er23y| 30,480 36,280 /4,800
02 S3=gHl 30,480 35,280 4,800
O=sR= £ MA 7,200
OHOIE=ZE HIIRS 7,200,000 7,200
OAI2EHI= Xl 23,280
OLQI=XIEHR2 AIZEHIRX
19,400,000& 19,400
OZM HOIEZE AMEFHIFA
3,880,000& 3,880
401 AIEHIZ SR 0HYI 206,500 105,000 101,500
01 Al&HI 205,000 105,000 100,000
O ISE=A2 Mg HE>
50,000,000 50,000
OUigtcelzl HMAIKE W2
50,000,000 50,000
OXIBEANOIEEE KNSSAt
40,000,000 40,000
OZHHOIEEE HIISAH
65,000,000 65,000
03 Al 2CHYI 1,500 0 1,500
O 2ISAANE JVISES AIERUH
1,500,000 1,500
405 AtaHE = 20,000 20,000
01 T ESFISHI 20,000 20,000
OS2 A8 A8 S
20,000,000 20,000
2EIA Hgs2d x4 100,000 100,000
405 AHaHE = 100,000 100,000
01 AL =S F=HI 100,000 100,000
O2&EX4 HEx32t I 2L
100,000,000 100,000
CLOI=EXAE 29 17,160,752 16,167,246 1,993,506
= 673,962
= 5,193,378
Al 11,293,412
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2A:

Ol&ot=0t

M Lol=XEX
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
TR TR p{ET
1,347,924,000& 1,347,924
= 673,962
[ 134,792
Al 539,170
CoI=XIE2 2AS 1,061,829 952,829 109,000
307 elztol & 1,061,829 952,829 109,000
05 QI29IEt2 1,061,820 952,829 109,000
O=QI=XES LOI=XR 21292
761,829,000 761,829
OLQ=XE2 LoIQorR DIgielea
300,000,000 300,000
LoEXg HHEZOY 2EXNA(EX) 29,904 28,464 1,440
= 4,486
Al 25,418
307 elzto| & 29,904 28,464 1,440
= 4,486
Al 25,418
1 AMEISXAEEXS 29,904 28,464 1,440
O=0I=TE HER Y 2 X
29,904,000 29,904
s 4,486
Al 25,418
Lol HEE 2ESHY MHIAZ2(EX) 31,117 29,562 1,555
& 9,33
Al 21,782
307 elztol & 31,117 29,562 1,555
= 9,33
Al 21,782
11 AMEISXAIEEXS 31,117 29,562 1,555
0= VEH SSHY MHIA At
31,117,000& 31,117
=S 9,33
Al 21,782
LoIEXI2 SAL EE(EX) 16,920 16,920 0
< 5,076
Al 11,844
307 glztol & 16,920 16,920 0
= 5,076
Al 11,844
11 AMEISXAIEEXS 16,920 16,920 0
COISXR AN SEa
16,920,000 16,920
=S 5,076




2A:
X XH -
o e

=aak

Ol&ot=0t
ESSIE-INEFS]

LoI=EXAE 2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 11,844
OIS TIAIE XA (EX) 6,690,7% 5,288,973 1,401,823
== 669,080
Al 6,021,716
307 212+01& 6,690,79% 5,288,973 1,401,823
< 669,080
Al 6,021,716
11 AMEISXAEEES 6,690,79%6 5,288,973 1,401,823
Ol SXIAE X3
6,690,796,000& 6,690,79%
= 669,080
Al 6,021,716
MOt QIS XIAIE SAR SE+E(EX) 19,440 30,600 211,160
== 5,832
Al 13,608
307 212+01& 19,440 30,600 A11,160
< 5,832
Al 13,608
11 AMEISXAEEE 19,440 30,600 A11,160
OMII=RISKIAE SAL SE=E
19,440,000 19,440
= 5,832
Al 13,608
LZAIE 2| XN (EX)(HEAY) 997,438 960,626 36,812
== 692,491
Al 304,947
307 212+01& 997,438 960,626 36,812
[ 692,491
Al 304,947
11 AMEISXIAEEES 997,438 960,626 36,812
O Z A4 28 XI& 997,438,000 997,438
= 692,491
Al 304,947
LOIMIIQUAE S0H(EX) 4,758,111 4,298,778 459,333
= 3,330,678
Al 1,427,433
301 EetE NS 4,798,111 4,298,778 459,333
== 3,330,678
Al 1,427,433
02 ARSI 2E AT S(FIAANS, XLETHE) 4,758,111 0 4,758,111
O QMEAL X2 4,758,111,000& 4,798,111
< 3,330,678
Al 1,427,433




2A:

X XH -
o=

Ol&ot=0t

ESSIE-INEFS]

&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LCOIMEAIE BALX SESE(EX) 140,040 111,960 28,080

= 42,012
Al 98,028
307 el2to| & 140,040 111,960 28,080
= 42,012
Al 98,028
1 AMISXAIEEXS 140,040 111,960 28,080
OLQMEAE EAR SE4g
140,040,000 140,040
== 42,012
Al 98,028
Ol HIOIAINAH 28 (2X) 97,416 93,240 4,176
= 29,225
Al 68,191
307 elztol & 97,416 93,240 4,176
= 29,225
Al 68,191
1 AMISXAIEEXS 97,416 93,240 4,176
OL2=S HOBNEH 29
97,416,000 97,416
== 29,225
Al 68,191
Z22Y ZSE0/I0] Xl X (2=x) 74,844 0 74,844
= 22,453
Al 52,391
201 er23| 74,844 0 74,844
= 22,453
Al 52,391
02 S3=gHl 74,844 0 74,844
O3z 3EA0/I0l SeE X
74,844,000 74,844
== 22,453
Al 52,391
CeME NEYs 6,759,014 6,574,542 184,472
= 2,884,836
[ 241,911
= 575,332
Al 3,056,935
CLOISXNSAIY =X 424,546 431,511 26,965
201 er23| 22,520 34,200 A11,680
01 AtR2t2|HI 10,880 12,560 1,680
O+ 3,840
OZA =2 1,840,000& 1,840
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2A: HAIE
Hm: Lol=X|SX
Sel: ME 25t (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 119,258
SHL0 S S201 MlA 18,680 31,600 A12,920
101 @124l 10,080 0 10,080
M ORIH2ZISES 10,080 0 10,080
0S322/98 2549 2 2EHE S
10,080,000 10,080
201 L2 | 8,600 31,600 A23,000
01 Ar22eltl 8,600 8,600 0
OLe=2| 8,600
O=HLO - ST SSHH AIRES
- 8,600,000& 8,600
SNHLUESHL SSAHNANEIA 2H(BX) 483,822 488,908 Ab5,086
s 241,911
Al 241,911
101 eI24t| 201,836 191,870 9,966
s 100,918
Al 100,918
M IIRINZ2Z2XSEs 201,836 191,870 9,966
OSHLUSSHUS SSetEMEIA 2tel
RE 201,836,000 201,836
s 100,918
Al 100,918
201 2| 281,986 297,038 A15,052
s 140,993
Al 140,993
01 ArR222ltl 204,066 4,066 200,000
OLe=2| 204,066
O=SHLOESSER SSAEAHIA =&
204,066,000& 204,066
s 102,033
Al 102,033
02 S=29| 77,920 292,972 A215,052
OSHLUSSHUC SStEMHIA SA
Hl & 77,920,0002 77,920
s 38,960
Al 38,960
LOIAEEZ AL AN 587,240 587,240
201 L2 | 12,240 12,240
01 Ar2eltl 240 240
O e==2| 240
OLCIXE=sMEIA AIE F&
240,000 240
03 &At2gH| 12,000 12,000 0
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AT HEIEED
M Lol=XEX
Sel: ME 25t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O-OIRES=AHIA 2802 SAK 93
& = 12,000,000 12,000
301 EtE2 NS 575,000 575,000 0
02 AR 2HHLFS(HAAS, XNLHE) 575,000 0 575,000
O IXESESAMEIA T2 RSB ALK
sl X& 575,000,000 575,000
LoISEESMUIA(EX) 4,121,196 3,948,170 173,026
= 2,884,836
= 432,725
Al 803,635
307 @12t0| & 4,121,19% 3,948,170 173,026
= 2,884,836
= 432,725
Al 803,635
1 AMEISXAIEEXS 4,121,19%6 3,948,170 173,026
O=OINESZAHIA AR(QI2H], ARIHI,
wEHL 282 8) 4,121,196,000& 4,121,196
= 2,884,836
= 432,725
Al 803,635
LCOIAYTHEX) 5,000 5,833 A833
s 750
Al 4,250
307 212+01& 5,000 5,833 A833
& 750
Al 4,250
11 AMEISXAEEES 5,000 5,833 A833
O QAT 5,000,000& 5,000
= 750
Al 4,250
RIIZAE(EX) 201,600 177,450 24,1850
= 50,400
Al 151,200
307 @120l & 201,600 177,450 24,150
== 50,400
Al 151,200
11 AMRISXAEEES 201,600 177,450 24,150
OR=I2AE 201,600,000 201,600
< 50,400
Al 151,200
NHEEH MAS T QIAAHHE (B X) 196,020 174,240 21,780
= 49,005
Al 147,015
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SN IS
M Lol=XEX
Hel c=dE N33 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 1,600 0 1,600
OZ Al H2aEZ 932 /3E S
1,600,000 1,600
14 0Bt 2a=S 25,000 0 25,000
O02¢ 8 2502 USAIS(Z4)
25,000,000& 25,000
SANAEEE 313,300 259,126 54,174
ss2X 29 2l 25,760 25,760 0
101 @124H| 23,000 23,000 0
M ORINZZ2NSE S 23,000 23,000 0
O=4230| SSRA 2Z3 3|
23,000,000 23,000
201 er23| 2,760 2,760
01 AtR2t2|HI 2,760 2,760
O+ 2,760
OZSEA 29 2l 2,760,000 2,760
HATAMANEEE 287,540 168,366 119,174
201 =3 1,460 460 1,000
01 At22telt] 1,460 460 1,000
o3zt 1,460
ONHH 2222 SFAIL 2REX
1,460,000 1,460
308 AtAIEHMSOIE 286,080 167,906 118,174
07 HXHH 2L FRE52 286,080 167,906 118,174
OAgd =253 NSAXEHH2 8=
286,080,000 286,080
LoIASoHE X 105,016,670 96,286,256 8,730,414
= 86,042,037
s 5,616,515
Al 13,358,118
=3 Na 920 920 0
201 2= 920 920
01 At22t2lt] 920 920
O =ZH| 920
OJlzd=s g2=d 920,000 920
=3 XS (EX) 84,803,383 75,579,526 9,223,857
= 76,326,486
< 1,695,379
Al 6,781,518
301 EtE NS 84,803,383 75,579,526 9,223,857
= 76,326,486
== 1,695,379
Al 6,781,518
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AT HEIEED
M Lol=XEX
ol =oIASerd X3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 84,803,383 75,579,526 9,223,857
OJ1z=¢s Xs 84,803,383,000& 84,803,383
= 76,326,486
< 1,695,379
Al 6,781,518
colgiiel & AtelESKIE = 451,546 391,640 59,906
201 er23 | 22,072 21,800 272
01 At2teltl 2,072 1,800 272
O eS| 500
O Qlgiiel PR 500,000 500
O=&H| 1,572
Oz Egs2dY 1,572,000& 1,572
03 Ar=EHI 20,000 20,000 0
O Rel s GEA /S
20,000,000& 20,000
202 048l 924 840 84
01 2L AL 924 840 84
O0INBIEES ERFL S
924,000 924
301 2eEN= 315,000 314,000 1,000
02 N 2EHSFHS(HAANS, KLHE) 314,000 0 314,000
OSE8S UARIESAE A
314,000,000 314,000
14 DBt 2 a=S 1,000 0 1,000
OZHE M22 elgdiiel 32
1,000,000& 1,000
307 21201 & 113,550 55,000 58,550
11 ARRIS XA E X 113,550 55,000 58,550
OAMZE(AHHZE =7) 66,750,000& 66,750
Olgiel 8Eit g5+ N
46,800,000 46,800
Lolgikiel 2 AlSIE S EH(EXR) 19,431,101 19,984,450 /553,349
= 9,715,551
& 3,886,220
Al 5,829,330
201 er23 | 2,700 3,180 A450
= 1,350
S 540
Al 810
01 At2t2lt] 2,700 3,180 A450
Ot~ 2,700
O QAR ESAE AE=
2,700,000& 2,700
= 1,350
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AT HEIEED
M Lol=XEX
ol =oIASerd X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 540
Al 810
202 04l 2,650 2,500 150
= 1,325
== 530
Al 795
01 2LHoIH 2,650 2,500 150
O QIAMSIESKIA At
2,650,000& 2,650
= 1,325
< 530
Al 795
301 EtE NS 1,679,900 1,774,100 A94,200
= 839,950
< 335,980
Al 503,970
01 AR 2EHSFS(RNEXRTHE) 1,679,900 1,774,100 A94,200
O=QNBISSTY AIYER(SHE)
1,679,900,000& 1,679,900
= 839,950
< 335,980
Al 503,970
307 glztol & 17,745,851 18,204,700 A\458,849
= 8,872,926
== 3,549,170
Al 5,323,755
11 AMEISXAEEES 17,745,851 18,204,700 A\458,849
O=OABIZSNR AZER(2120)|2)
16,592,251,000& 16,592,251
= 8,296,126
== 3,318,450
Al 4,977,675
O QA 2SXEAY 8012 &2t Al
& 1, 153,600,000 1,153,600
= 576,800
< 230,720
Al 346,080
ALIN2Y 2E(EX) 320,000 320,000 0
= 32,000
Al 288,000
307 elztol & 320,000 320,000 0
= 32,000
Al 288,000
1 AMISXAIEEXS 320,000 320,000 0




AT HEIEED
M Lol=XEX
ol oIS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMLIGIEE 28 X2 320,000,000 320,000
= 32,000
Al 288,000
ALIOIZ2E SAHK SE4+2(EX) 9,720 9,720 0
=S 2,916
Al 6,804
307 21201 & 9,720 9,720 0
< 2,916
Al 6,804
11 AMEISXAEEES 9.720 9,720 0
OAILIIZE SAtA S85E
9,720,000 9,720
= 2,916
Al 6,804
25 2 otssAsd 27,965,005 26,616,699 1,348,306
= 11,314,094
[ 663,850
Jl 357,348
s 7,455,363
Al 7,974,350
CH 200,000
Ots=Asd 8,936,391 8,313,507 622,884
= 2,633,398
= 663,850
Il 367,348
= 1,875,785
Al 3,206,010
CH 200,000
Ols SXAE =& 31,257 30,423 834
201 =3 27,714 26,880 834
01 At2t2lt] 7,714 6,880 834
O =ZH| 2,000
oo0ts g=2=ad 2,000,000& 2,000
O=g=+¢ 3,640
Olts249ds B84
70,0008 7 H =23 980
OESIMS E4+d
70,0003 122 +23] 1,680
O0tS=ENY?Es HH=H
70,0008 x7H =23 980
O=&H| 2,074
O0ts 2= = 2,074,000& 2,074
03 A= EHI 20,000 20,000 0
OO0{el0] & J18 &AL 20,000,000 20,000
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AT HEIED
M 98 U OIS=NEZ
i V=t N =SS! (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 1,543 1,543
01 2LHoIH 1,543 1,543
O0ts g2 S 1,543,000& 1,543
301 LEtE N = 2,000 2,000 0
02 A2 X 2GS (FHAAHS, NSWE) 2,000 0 2,000
ORESOS(OIERIE Al S) £
g3 7¢ 2,000,000& 2,000
Ols=XAE 28X 128,400 228,800 100,400
307 212+01& 128,400 228,800 100,400
11 AMEISXAEEES 128,400 228,800 100,400
OOISSXAIE SMA Fel=d X2
33,600,000& 33,600
OOtS=RAE tE RFHI K&
19,800,000 19,800
O0S=XAE Wi{u>H X2
7,700,000 7,700
OOISEXAIE ettt XA
6,000,000& 6,000
OXS0tSHE HAsA XI&
5,000,000& 5,000
OXI0ISHIE B4 £20] X2
52,800,000 52,800
OXIG0tSHE SAK Ag2s HAs=H| X
& 3,500,000& 3,500
XI=0otSHIE! 2SH X (2x) 193,562 853,320 659,738
= 96,791
< 38,717
Al 58,074
307 glztol & 193,582 853,320 A\659,738
= 96,791
== 38,717
Al 58,074
11 AMEISXAEEES 193,582 853,320 659,738
OXS0tSHE JI22g X
180,732,000 180,732
= 90,366
== 36,147
Al 54,219
OXS0tSHE =It=23dl X3
12,850,000 12,850
= 6,425
< 2,570
Al 3,85
XSotsHlE 22Hl FHXE (EX) 6,600 6,600 0
= 1,980
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AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,620
307 gl2tol & 6,600 6,600 0
=S 1,980
Al 4,620
11 ARRIS XA E X 6,600 6,600 0
OXIS0otSHE 2dHl =Jt X2
6,600,000 6,600
< 1,980
Al 4,620
S+SXE NA0sSHE FHANA(EX) 33,840 22,680 11,160
= 16,920
< 6,768
Al 10,152
307 elztol & 33,840 22,680 11,160
= 16,920
== 6,768
Al 10,152
1 ABIS XA EE 33,840 22,680 11,160
OS+28 NH0ISHE %0t A
22,320,000 22,320
= 11,160
s 4,464
Al 6,696
OE22d X 11,520,000 11,520
= 5,760
s 2,304
Al 3,456
XSotsHE 2ZHaH X(EX) 30,000 10,000 20,000
= 15,000
=S 6,000
Al 9,000
402 2I2F X201 & 30,000 10,000 20,000
= 15,000
= 6,000
Al 9,000
02 PIIHZ AN 2 X (OIH TR 30,000 10,000 20,000
OXIGOISHIE BN X2
30,000,000& 30,000
= 15,000
= 6,000
Al 9,000
NSOotSHE g= SAH XJ(2X) 544,250 544,250 0
== 136,062
Al 408,188




AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 544,250 544,250 0
= 136,062
Al 408,188
11 AMEISXAIEEXS 544,250 544,250 0
ON0ISHIE 2DE 34 X9
544,250,000 544,250
=S 136,062
Al 408,188
NSOotsSHE SAANMSMEEI(EX) 52,120 52,120 0
< 10,424
Al 41,696
307 lztol & 52,120 0 52,120
= 10,424
Al 41,696
11 MEISXAEE 52,120 0 52,120
OXSO0tSHE SAL XM
52,120,000 52,120
= 10,424
Al 41,696
KSOotsHE T2 O] FIF K@ (2xX) 85,332 85,332 0
[ 25,600
Al 59,732
307 glztol & 85,332 85,332 0
= 25,600
Al 89,732
11 MEISXAEE 85,332 85,332 0
OXIS0tsHE 2| It XY
85,332,000& 85,332
S 25,600
Al 59,732
CHiNEsdE 23] X 30,800 30,800 0
201 2= 2,000 2,000
02 S22l 2,000 2,000
OAI2EHI= X 2,000,000 2,000
307 glztol & 28,800 28,800
05 2IMRIE =3 28,800 28,800
OUEN ==dH 238 N
28,800,000& 28,800
Gl SS4IE ol14H] XI&(2X) 166,796 107,544 59,252
[ 83,398
= 25,019
Al 58,379
307 elztol & 166,796 107,544 59,252
= 83,398




FA 8IS
Of

M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 25,019
Al 58,379
11 AMEISXAEEES 166,796 107,544 59,252
OUEN S=dE 1Ay
166,796,000 166,796
= 83,398
< 25,019
Al 58,379
Cletll Ss4E 28] X (EX) 28,000 7,200 20,800
= 14,000
[ 4,200
Al 9,800
307 glztol & 28,000 7,200 20,800
s 14,000
== 4,200
Al 9,800
11 AMRISXAEEES 28,000 7,200 20,800
Ot S=dE 23|
28,000,000 28,000
s 14,000
s 4,200
Al 9,800
OENsSsSdE Xl XJ|(2X) 50,000 0 50,000
= 30,000
=S 6,000
Al 14,000
401 AIEHIZ SR 0HYI 50,000 0 50,000
[ 30,000
= 6,000
Al 14,000
01 AlZH| 49,460 0 49,460
OUET S=2dE 222
49,460,000 49,460
[ 29,800
= 5,940
Al 13,720
03 AlESTHYI 540 0 540
OUEN SsdE 228
540,000 540
[ 200
S 60
Al 280
CIEMSSHE JIXHEl XI&(2X) 20,000 0 20,000
[ 20,000
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AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 20,000 0 20,000
= 20,000
01 TR =S FSHI 20,000 0 20,000
OCHE N Ss4H JIXHH X
20,000,000& 20,000
= 20,000
RES0s 18E 2E(EX) 236,155 194,838 41,317
= 94,462
= 70,847
Al 70,846
307 gl2to| & 236,155 194,838 41,317
= 94,462
= 70,847
Al 70,846
11 AMEISXAIEEES 236,155 194,838 41,317
OREs0ls 1E82= 24
236,155,000 236,155
= 94,462
= 70,847
Al 70,846
RES0IES 188 AN SEXE(EX) 19,440 8,640 10,800
= 5,832
Al 13,608
307 @120l & 19,440 0 19,440
== 5,832
Al 13,608
11 AMRISXAEEES 19,440 0 19,440
OR2E50lEs 188 SAL SE=E
19,440,000 19,440
= 5,832
Al 13,608
QES0ts I8 SAH ORIZ2S+2(8X) 4,200 3,600 600
= 1,260
Al 2,940
307 @20l & 4,200 0 4,200
s 1,260
Al 2,940
11 AR SXAIEE X 4,200 0 4,200
ORES0ls 188 SN ORI22+E
4,200,000 4,200
& 1,260
Al 2,940
SSYEIF(OAES) M SEY(EX) 5,200 2,400 2,800
= 1,560




AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,640
307 gl2tol & 5,200 0 5,200
=S 1,560
Al 3,640
11 ARRIS XA E X 5,200 0 5,200
O3SYEIHE(OES) SALL HE=E
5,200,000 5,200
< 1,560
Al 3,640
OlSSXIAE ME0ts XIZAIE(EX) 17,580 9,780 7,800
= 4,774
Al 12,806
301 EtE NS 10,000 9,780 220
=S 2,500
Al 7,500
02 ARI2HHSHS(HAAS, NLHE) 10,000 0 10,000
O 20l NHEEH= N
10,000,000 10,000
== 2,500
Al 7,500
307 elzto| & 7,580 0 7,580
= 2,274
Al 5,306
1 AMEISXAIEEXS 7,580 0 7,580
OO0ISSAAE H20ts A& A
7,580,000& 7,580
s 2,274
Al 5,306
Ots=2 N (EX) 2,942,373 3,161,922 A\219,549
= 2,059,661
s 441,35
Al 441,35
301 EtE NS 2,942,373 3,161,922 A\219,549
= 2,059,661
= 441,35
Al 441,3%
01 Al EE A S (2 RDEEMA) 2,942,373 3,161,922 A\219,549
Oo0ts+& K& 2,942,373,000& 2,942,373
= 2,069,661
= 441,35
Al 441,35
Ots=2 2gH NJ(2X) 336 336 0
= 235
== 34
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AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 490
=S 106
Al 105
LA0ts IISX MG (L2HIE)(EX) 5,400 5,400 0
7l 3,780
= 1,620
301 EtE NS 5,400 5,400 0
Il 3,780
== 1,620
01 Al EE A ZS(2REXMR) 5,400 5,400 0
212 dlE N 5,400,000& 5,400
) 3,780
< 1,620
IrEelE B3l XJ(Ex) 133,372 105,300 28,072
== 13,337
Al 120,035
301 2eEN= 133,372 105,300 28,072
< 13,337
Al 120,035
02 MBI 2HEHSFHS(HAANS, XLHE) 133,372 0 133,372
OlE95 gs2L3 AR
133,372,000 133,372
= 13,337
Al 120,035
I RIEOls MEETS K (EX) 64,657 24,160 40,497
== 19,397
Al 45,260
301 22N 64,657 24,160 40,497
< 19,397
Al 45,260
02 MBI 2HHSFHS(HAANS, XLHE) 64,657 0 64,657
OI1FIS0IS MBOHTS N
64,657,000& 64,657
= 19,397
Al 45,260
NEAMEYH JIBZH(EX) 16,250 18,000 A1,750
== 3,250
Al 13,000
301 22N = 16,250 18,000 A1,750
[ 3,250
Al 13,000
02 MBI 2EHSFHS(HAANS, XLHE) 16,250 0 16,250
O=0t23 N 16,250,000 16,250
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AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2g+< 500
OO0lssil Mg Ws A
500,000 500
02 S3=gHl 1,600 1,260 340
03223 € HAl 1,600
O083k= & XMl S
1,600,000 1,600
202 04l 957 957
01 =LHAHI 957 957
Ootssit g4 957,000 957
AGotsEsd2012 24 38,763 33,800 4,963
308 AHRIEMSOIE 38,763 33,800 4,963
07 M2 E = 38,763 33,800 4,963
OXG0tSEsdEI |2 28 MKHM 25
= 38,763,000 38,763
OlSESHERE NA(EX) 5,000 8,000 23,000
s 4,000
== 500
Al 500
201 2= 3,400 8,000 4,600
= 2,720
= 340
Al 340
01 AtR2tc|HI 3,100 8,000 24,900
OR2s OtsAd R
3,100,000& 3,100
[ 2,480
= 310
Al 310
02 s3=gHl 300 0 300
OOISESHERE 28 JFUIs 2=
300,000 300
= 240
=S 30
Al 30
202 04| 600 0 600
= 480
S 60
Al 60
01 2K 600 0 600
OOISESEERA EF0HI
600,000 600
= 480
S 60

&




AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 60
301 LEtE NS 1,000 0 1,000
[ 800
= 100
Al 100
01 Al EE A S (2 RDEXMA) 1,000 0 1,000
OOIS2I28], MHIAH U M2l S
1,000,000& 1,000
[ 800
= 100
Al 100
SSHEIIE(OEE) SAR 2124H] FIXA(EX) 1,441 1,441 0
== 432
Al 1,009
307 212+01& 1,441 1,441 0
[ 432
Al 1,009
11 AMEISXAEEES 1,441 1,441 0
OSSHEIE SAL 28] =0t XA
1,441,000& 1,441
= 432
Al 1,009
Ols& Al &4 18,000 19,000 1,000
201 ger= 3| 14,000 15,000 21,000
03 &A= 14,000 15,000 21,000
OOISEs MEEES 2R0IRY 29
7,000,000 7,000
O02I0] A4 25 23H|
7,000,000& 7,000
301 LEtE N = 4,000 4,000
11 #AIAMHIXIZ S 4,000 4,000
OO0ts& st MEHAE 2HMOIRY 29
2,000,000 2,000
O0glol #A4E 23 &5 ZH|
2,000,000 2,000
SHHIISHOtSEE 2L (EX) 237,182 114,778 122,404
= 94,872
== 71,155
Al 71,155
307 212+01& 237,182 114,778 122,404
= 94,872
=S 71,155
Al 71,155
10 Al SXAEEE 22X 237,182 114,778 122,404
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FA 8IS
Of

B2 2% 9 OIS=XSH
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HIIGHOISEE 298] X
237,182, 0002! 237,182
2 %4,872
= 71,156
Al 71,1565
ZOHotS ALAFEEZ(EX) 6,612 17,236 10,624
| 4,628
= 992
Al 992
301 LBHRHI 6,612 17,23 A10,624
| 4,628
= 992
Al 9%
I EEE P EIEREESTE) 6,612 17,23 A10,624
OZ0I0IS YYYS 2EZ
6,612,002 6.612
| 4,628
= 992
Al 992
CHEHSSAE SAK 29(2X) 9,120 7,360 1,760
= 1,824
Al 7,2%
307 2I240IH 9,120 7,360 1,760
= 1,824
Al 7,2%
11 ABI S TIA B E 9,120 7,360 1,760
OLHEN SSHE BAK SEay
6.720,0002 6,720
= 1,344
Al 5,376
O SSBUE BAK PB4
2,400,002 2,400
= 480
Al 1,920
CHRHADHE Sl X2 72,000 72,000 0
301 LBrBFI 72,000 72,000 0
03 AEIB XA 2 (RLTHR) 72,000 0 72,000
OCHRLNY US| X2
72,000,0002! 72,000
AW XA K 6,000 6,000 0
301 LBRFS 6,000 6,000 0
02 AR EHAT2 (S, L) 6.000 0 6,000
0L NS N 6,000,002 6,000
IHOLSHIEl ZAK Q12MH] IR (2X) 34,749 34,749 0




AT HEIED
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,431
Al 24,318
307 lztol & 34,749 34,749 0
= 10,431
Al 24,318
11 AMEISXAIEEXS 34,749 34,749 0
OXSO0ISHE SAEL 1A =0+ X2
34,749,000 34,749
=S 10,431
Al 24,318
gatfaotsEstl X (EX) 12,000 0 12,000
= 8,400
= 1,200
Al 2,400
301 EetE NS 12,000 0 12,000
= 8,400
= 1,200
Al 2,400
01 Al EE A S (2 REXMA) 12,000 0 12,000
O LUYotsESHl AE
12,000,000 12,000
= 8,400
= 1,200
Al 2,400
HBOtsSESHI(EX) 24,000 0 24,000
= 16,800
= 2,400
Al 4,800
301 EtE N = 24,000 0 24,000
= 16,800
S 2,400
Al 4,800
01 A2 HSHS(RNEERTH) 24,000 0 24,000
OHZ0tSE=H] 24,000,000 24,000
= 16,800
< 2,400
Al 4,800
222 SH0l= =0IH ZTL(ANLAZBUHSIIS) 240,000 0 240,000
Al 40,000
CH 200,000
307 el2tol & 240,000 0 240,000
Al 40,000
CH 200,000
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FA 8IS
Of

HH: 98 9 OlS=XEA
i V=t N =SS! (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 240,000 0 240,000
O2f=22 s20l=s =018 =4 240,000
Al 40,000
CH 200,000
XSotsHlE AAHIXIR(EXE) 831,322 0 831,322
[ 415,661
= 166,264
Al 249,397
307 el2to| & 831,322 0 831,322
= 415,661
< 166,264
Al 249,397
11 AMEISXAEEES 831,322 0 831,322
OXIS0tsHE eld] X2
831,322,000& 831,322
= 415,661
< 166,264
Al 249,397
2SN 2SN 18,782,798 18,056,128 726,670
= 8,534,928
[ 5,561,357
Al 4,686,513
ool 2SR 581,070 548,300 32,770
201 er23| 3,500 2,400 1,100
01 At2tltl 3,500 2,400 1,100
O +=SH| 2,000
o2s gf=d 2,000,000 2,000
O=&H| 1,500
O0eloly HRFd 1,500,000 1,500
202 04l 1,350 1,000 350
01 2LHoIH 1,350 1,000 350
2 g2 1,350,000& 1,350
301 EtE N = 130,000 162,000 /32,000
02 A2 X LGS (FHAAHS, NLWE) 130,000 0 130,000
O02I01E SALA XM<IHedl X2
130,000,000 130,000
307 @I2t01 & 426,220 332,900 93,320
11 AMRISXAEEES 426,220 332,900 93,320
O=E=¢2! eitsizl 7,300,000 7,300
O0{el0ld AMZH It K&
19,000,000& 19,000
OZHA ESudA S A5 At
20,000,000 20,000
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AT HEIED
3 25 d OIsSN8d
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0RI0IE BIIRIZ 242 A
3,000,000& 3,000
O0el0ld 23l NE A
84,000,000 84,000
OOIRI0IE BIIHEI| 22| K& Mgl
20,000,000 20,000
O0elold g2 N3 At
169,920,000& 169,920
OMZEAIZE HE l0ld =238 XIZ
40,000,000& 40,000
O0201d 25200 A4l X
63,000,000 63,000
401 Al HIZL 201 20,000 20,000
01 Al&HI 20,000 20,000
O=3E0201& H=E= 20,000,000 20,000
SSNAA AHl XJ(EX) 5,300,000 6,853,400 1,553,400
= 2,650,000
= 1,325,000
Al 1,325,000
307 elztol & 5,300,000 6,853,400 1,853,400
= 2,650,000
[ 1,325,000
Al 1,325,000
11 AMEISXAEEES 5,300,000 6,853,400 1,553,400
OESWAE 24| X3
5,300,000,000& 5,300,000
= 2,650,000
[ 1,325,000
Al 1,325,000
OElolE BXAT WA KR (EX) 1,120,000 1,096,000 24,000
= 560,000
< 280,000
Al 280,000
307 212+01& 1,120,000 1,096,000 24,000
= 560,000
=S 280,000
Al 280,000
11 ARRIS XA E X 1,120,000 1,096,000 24,000
ONE0IE EXHAF WAL X
1,120,000,000& 1,120,000
= 560,000
=S 280,000
Al 280,000
02H ES2(ExX) 4,435,310 4,231,000 204,310
= 2,882,950




FA 8IS
M 9= 9 OIS=NEZ
&2l ESAld 2R3 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 620,950
Al 931,410
307 212t01™ 20,000 20,000 0
= 13,000
S 2,800
Al 4,200
11 ARIZXAIE 2 X 20,000 20,000 0
O02H 252 20,000,000 20,000
= 13,000
S 2,800
Al 4,200
308 AHXIHMS0IA 4,415,310 4,211,000 204,310
= 2,869,950
=S 618,150
Al 927,210
11 202 SOITHEHE AR SISt AIIH| 4,415,310 4,211,000 204,310
02K BS2(HHLHTIH)
4,415,310,000& 4,415,310
= 2,869,950
= 618,150
Al 927,210
35M el BESEXJ(EX) 2,005,236 2,191,200 A95,964
< 2,095,236
307 el2to| & 660,000 660,000 0
= 660,000
11 AMEISXAEEES 660,000 660,000 0
O35A4 =2t 252 K&
660,000,000& 660,000
= 660,000
308 XtXIEMSO0IE 1,435,236 1,531,200 A95,964
= 1,435,236
11 SI2S0UetE 4R AS AL S| 1,435,236 1,531,200 A95,964
O3-5M F2Id 288 X2 (BRXXI)
1,435,236,000& 1,435,236
[ 1,435,236
sy ALY (EX) 233,500 600,000 366,500
= 151,780
= 40,860
Al 40,860
301 LeEN= 233,500 600,000 A366,500
= 151,780
= 40,860
Al 40,860
01 Al EEAGZ(2REXMR) 233,500 600,000 366,500




AT HEIED
M 9= 9 OIS=NEZ
Cel: EFAIE 2EXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oOtdgss4g X 233,500,000 233,500
= 161,780
=S 40,860
Al 40,860
Helold 2SR (EX) 102,040 90,200 11,840
= 51,020
=S 25,510
Al 25,510
307 21201 & 102,040 90,200 11,840
= 51,020
= 25,510
Al 25,510
1 AMISXAIEEXS 102,040 90,200 11,840
O 1 H| 30,040,000 30,040
= 15,020
= 7,510
Al 7,510
Os0E KEl0ld Xt 24|
56,080,000 56,080
= 28,040
= 14,020
Al 14,020
Os0E ARISXEL 0el0lE 24|
15,920,000& 15,920
= 7,960
= 3,980
Al 3,980
HElold @ ExuK(EX) 4,080 3,800 280
= 2,040
= 1,020
Al 1,020
307 gl2to| & 4,080 3,800 280
= 2,040
= 1,020
Al 1,020
11 MEISXAEEXS 4,080 3,800 280
OESuXE 2= WSH| 4,080,000& 4,080
= 2,040
< 1,020
Al 1,020
2YHI(AIIUSE ) (EX) 43,000 55,000 A12,000
= 21,500
[ 10,750




AT HEIED
M 9= 9 OIS=NEZ
Cel: EFAIE 2EXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,750
307 gl2tol & 43,000 55,000 A12,000
= 21,500
= 10,750
Al 10,750
11 AMEISXAIEEXS 43,000 55,000 A12,000
OANZIASE 25 K& 43,000,000 43,000
= 21,500
& 10,750
Al 10,750
SBENE0IE 2EHI(EX)(HEALY) 263,500 260,000 3,500
= 197,625
Al 65,875
307 gl2tol & 263,500 260,000 3,500
=S 197,625
Al 65,875
11 ARRIS XA E X 263,500 260,000 3,500
023€ o2lold X 263,500,000 263,500
[ 197,625
Al 65,875
S MR X (012018 SLnAKIR) (2 482,040 788,000 A305,960
x)
= 241,020
< 120,510
Al 120,510
301 EtE NS 482,040 788,000 A305,960
= 241,020
== 120,510
Al 120,510
N SEE P ETE R EE SV 482,040 788,000 305,960
OORI01T DA2SEZ NI X
482,040,000 482,040
= 241,020
s 120,510
Al 120,510
SRKNAY ML K (DAIEEE XE)(EX) 11,400 11,400 0
= 5,700
s 2,850
Al 2,850
301 EtE NS 11,400 11,400 0
= 5,700
= 2,850
Al 2,850




2A:

M 9= 9 OIS=NEZ
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 11,400 11,400 0
OuA 258 & K& 11,400,000 11,400
= 5,700
< 2,850
Al 2,850
ESDNY YN N (SEZSDA SE224) 50,988 80,000 £29,012
(2)
= 25,494
[ 12,747
Al 12,747
301 EtEE S 50,988 80,000 29,012
= 25,494
== 12,747
Al 12,747
01 Al 2E AT S(SREXME) 50,988 80,000 A29,012
OsEESDA SE224d
50,988,000 50,988
= 25,494
s 12,747
Al 12,747
SN HSMHAHI(EX) 365,880 322,000 33,880
& 106,764
Al 249,116
301 EtE NS 275,880 244,000 31,880
= 82,764
Al 193,116
02 A2 A LGS (FHAAHS, NSWE) 275,880 0 275,880
OES WA XML& 275,880,000 275,880
S 82,764
Al 193,116
307 212+01™ 80,000 78,000 2,000
[ 24,000
Al 56,000
11 AMEISXAEEES 80,000 78,000 2,000
ONE0IE EEE<0l XA
80,000,000 80,000
= 24,000
Al 56,000
=238 K20l SSA(EX) 220,000 120,000 100,000
= 110,000
= 33,000
Al 77,000
402 2I2F X201 & 220,000 120,000 100,000
= 110,000
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AT HEIED
M 9= 9 OIS=NEZ
Cel: EFAIE 2EXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 33,000
Al 77,000
02 DIZHAFE A2 X (01 R TH ) 220,000 20,000 100,000
02TY 00T =HE A
220,000,000 220,000
= 110,000
< 33,000
Al 77,000
{20l 2HI(d - LI (EX) 36,690 39,000 22,310
= 7,338
Al 29,352
307 el2to| & 36,690 39,000 22,310
= 7,338
Al 29,352
11 AMISXAIEEX 36,690 39,000 22,310
OOIRI01T 2HI(Y - L))
36,690,000 36,690
[ 7,338
Al 29,352
ZOHOF M2 Ol2I0I1E 2R AHI(EX) 24,132 17,148 6,984
= 7,240
Al 16,892
307 el2to| & 24,132 17,148 6,984
= 7,240
Al 16,892
1 AMISXAIEEXE 24,132 17,148 6,984
OO0t B2 O{201E 283 1|
24,132,000 24,132
< 7,240
Al 16,892
OlRl0IE S2HAll N (2X) 71,124 86,220 ~15,09
= 21,337
Al 49,787
307 el2tol & 71,124 86,220 15,096
= 21,337
Al 49,787
1 AMEISXAIEEXS 71,124 86,220 15,096
O0el0ld =248l X3
71,124,000 71,124
== 21,337
Al 49,787
HE0ld CHMAL XIR(EX) 24,048 28,800 N4, 752
= 12,024
== 6.012

&




AT HEIED
M 9= 9 OIS=NEZ
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,012
307 gl2tol & 24,048 28,800 N4,752
= 12,024
= 6,012
Al 6.012
11 AMEISXAIEEXS 24,048 28,800 N4, 752
OO0l THHMIWAL Q1A4H| X1
24,048,000 24,048
= 12,024
= 6,012
Al 6.012
Oelold JIsEZ(ExX) 32,000 30,000 2,000
= 16,000
= 4,800
Al 11,200
402 2IF X201 & 32,000 30,000 2,000
= 16,000
[ 4,800
Al 11,200
02 QI T2 AL EE (01X THE) 32,000 30,000 2,000
0020l JIsEd 32,000,000& 32,000
= 16,000
== 4,800
Al 11,200
GOt RFAMS(EX) 2,777,400 568,160 2,209,240
= 1,805,400
== 486,000
Al 486,000
301 22N = 2,777,400 568,160 2,209,240
= 1,805,400
= 486,000
Al 486,000
01 Al EE A S (FRNEXA) 2,777,400 568,160 2,209,240
Ogot=& X2 2,777,400,000& 2,777,400
= 1,805,400
= 486,000
Al 486,000
OEl0lE OAMIEH 2H| X (Ex) 57,600 26,000 31,600
== 17,280
Al 40,320
307 212+01& 57,600 26,000 31,600
[ 17,280
Al 40,320
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AT HEIED
M 9= 9 OIS=NEZ
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 57,600 26,000 31,600
OO02l0l& OMIEr 28H| X2
57,600,000& 57,600
= 17,280
Al 40,320
Oeloly 222t X (Ex) 461,760 0 461,760
== 138,528
Al 323,232
307 212+01& 461,760 0 461,760
< 138,528
Al 323,232
11 AMEISXAEEE 461,760 0 461,760
002018 223H| XI&
461,760,000& 461,760
= 138,528
Al 323,232
CEAEE 245,816 247,064 A1,248
= 145,768
= 18,221
Al 81,827
CEHAEE dH 23 63,606 63,514 R
201 eer23y| 3,606 3,514 R
01 AtR2t2|HI 1,012 920 2
O=&H| 1,012
OCEAEE g2z 1,012,000& 1,012
2 35284l 2,594 2,5%4 0
OXtE & 2,5%
OCEAHEAMY g FAlH
2,594,000& 2,5%
301 EetE2 N = 60,000 60,000 0
02 ANBI2HHSFS(HAAS, NLHE) 60,000 0 60,000
O=SAEE 208 Z208 24
60,000,000 60,000
XS ESAEE SgAtdl2te] NJ(EX) 182,210 183,550 1,340
= 145,768
s 18,221
Al 18,221
201 et 3| 30,300 28,300 2,000
= 24,240
= 3,030
Al 3,030
01 AtR2t2|HI 20,000 18,000 2,000
O+ 17,000




2A:

M 9= Y OIS=NEZ
=9 SB=E= (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCEAEEHH 2925 79 ¥ 222
M 17,000,000 17,000
= 13,600
[ 1,700
Al 1,700
O=&gH| 3,000,000& 3,000
= 2,400
& 300
Al 300
2 s5=g4l 300 300 0
0ZZRIYHA 300
OFR3 L SMUER3 S
300,000 300
= 240
== 30
Al 30
03 A= I 10,000 10,000 0
O=3Hg ¥ S22t E
10,000,000& 10,000
= 8,000
= 1,000
Al 1,000
202 04| 7,000 7,000 0
= 5,600
= 700
Al 700
01 =LHOHI 7,000 7,000 0
OAtd2tel & us 4 EF04HI
7,000,000& 7,000
= 5,600
= 700
Al 700
301 EetE2 N = 144,910 146,250 1,340
= 115,928
= 14,491
Al 14,491
01 Al EE A S (2 DEXR) 73,7% 73,7%4 0
O=20tg T2 2 73,794,000& 73,7%
= 59,036
= 7,379
Al 7,379
11 #AIAMHIXIE S 3,462 4,802 1,340
Oz 8&g B 3,462,000& 3,462
= 2,770
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SN IS

=
Hu: O4DE U ARl N
=2

Rl =5 agma%g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0dal2t AIE&8Hl RAE=
1,941,000 1,941
Oll0te &8 2,134,000& 2,134
OMsE n&=l ¥ 2HLAM S
1,833,000& 1,833
202 04l 1,307 1,188 119
01 2LHoIH 1,307 1,188 19
O0du=s2d d2=a 727,000 727
OUEUs=g Ned 580,000 580
206 M=l 640 640
01 2 640 640
0424 0127 229 2
240,000& 240
O3t a A=59E 7Y 400,000 400
301 EtE NS 240,500 210,580 29,920
11 dAMEBIXIE S 1,500 1,500 0
OSH L 2AZHAL DO AU
1,500,000 1,500
4Bt 2a3 239,000 209,080 29,920
ONHduE A=< 235,000,000 235,000
OE4d Relus 4,000,000 4,000
WISt 42,000 2,000 40,000
206 M=l 2,000 2,000 0
01 MHZH| 2,000 2,000 0
0320102 D] 1,000,0002 1,000
020712, MR HE P
1,000,000& 1,000
405 AtatE = 40,000 0 40,000
01 Tt =S F=HI 40,000 0 40,000
O0del2 NSo2 )8 UE 38 &34l 1
Al 40,000,000 40,000
SAUAME MAIR Y 2H3 6,900 6,900
201 Ler23| 4,400 4,400
03 A= SHI 4,400 4,400
OZd H3 A3 4,400,000 4,400
301 EtE N = 2,500 2,500
11 #AIAHIXIZ S 2,500 2,500
OXETAE NHASAR & EAH AHIE
o 2,500,000& 2,500
Hdgitel K& 378,310 405,192 N26,882
= 236,881
Il 21,088
= 66,906
Al 53,435




2A:
PSER
o e

el

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

MLEH X2 (HEMELSDIHEHRE)(EX)

Mo

=

81,260
40,630
20,315
20,315

89,284

101 @124H|

Mo

=

61,240
30,620
15,310
15,310

58,272

2,968

61,240,000

Mo

=

61,240

61,240
30,620
15,310
15,310

58,272

2,968

Mo

15,520
7,760
3,880
3,880

24,512

AB,9%2

03 A2 I

8,520,000

Mo

B
,000,000&

Mo

=

8,520
8,520
8,520
4,260
2,130
2,130
7,000

7,000
3,500
1,750
1,750

10,512

14,000

1,992

AT7,000

202 044l

Mo

=

3,500
1,750
875
875

3,500

01 =LA LI

OMEHH ZRF8

3,500,000&

Mo

=

3,500
3,500
1,750
875
875

3,500

1,000
500
250
250

1,000




AT HEIED
Za: (4D L ARl X
Rl geiiel A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 1,000 1,000 0
OMHEI AL HOIXH REH 2 S22
1,000,000& 1,000
= 500
< 250
Al 250
MEdE 28 (Hgns &-)(Ex) 75,931 69,900 6.031
= 75,931
101 e124d| 300 300 0
= 300
04 JIZtN2 2N S 2+ 300 300 0
O=ded SE+E 300,000 300
= 300
201 et23| 29,331 28,300 1,031
= 29,331
01 At2t2lt] 3,331 2,300 1,031
O =ZH| 3,331
OXguU=EH 2Y 3,331,000& 3,331
= 3,331
03 A= &I 26,000 26,000 0
OXYUSEA LA, +24 HEHS S
26,000,000& 26,000
= 26,000
301 LELE NS 46,300 41,300 5,000
= 46,300
11 #AIAHIXIE S 7,139 6,139 1,000
OXNSEY HOIK DS L S
7,139,000& 7,139
= 7,139
4Bt 2as 39, 161 35, 161 4,000
OXgUFES dA=E 39,161,000& 39, 161
= 39, 161
MEHE NE2E (XA FHAAH ) (LX) 180,400 150,400 0
= 120,320
== 15,040
Al 15,040
301 LEtE NS 150,400 150,400 0
= 120,320
[ 15,040
Al 15,040
14 JIEt2d= 150,400 150,400 0
OMEHE HYolEH 29
150,400,000 150,400
= 120,320
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AT HEIED
Za: (4D L ARl X
Rl geiiel A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,016
202 04| 7,200 0 7,200
== 2,160
Al 5,040
NETET] 7,200 0 7,200
OGN L FSNEA B2
7,200,000 7,200
= 2,160
Al 5,040
Od Helal MEUF(EX) 3,000 3,000 0
= 1,500
Al 1,500
201 fer=3| 2,400 2,400 0
== 1,200
Al 1,200
01 At22t2lt] 1,000 1,000 0
O et=ZH 1,000
OFgioIM HEW 29
1,000,000 1,000
= 500
Al 500
03 &A=& 1,400 1,400 0
OFgels Met= 1,400,000& 1,400
== 700
Al 700
301 EtE NS 600 600 0
= 300
Al 300
11 dALEBIXNIZE S 600 600 0
OFgols Metis ZUAL S|
600,000 600
= 300
Al 300
JIZH HIERD AEMS(EX) 3,000 3,000 0
[ 1,500
Al 1,500
201 er23 | 2,400 2,400 0
S 1,200
Al 1,200
03 ALY 2,400 2,400 0
OJ12X UEHT 7= AL (AANSER 2
g3l) 2,400,000& 2,400
= 1,200
Al 1,200




2A:

Ol&ot=0t

Za: (4D L ARl X
Rl geiiel A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 600 600 0
= 300
Al 300
11 #AIMHIXIE S 600 600 0
OJI2H UERAD 2= AIE Z0A =&
600,000 600
=S 300
Al 300
4 st&a S2HH NJ(EX) 10,000 10,000 0
< 5,000
Al 5,000
402 QI2F X201 & 10,000 10,000 0
= 5,000
Al 5,000
02 QI A2 AL EE(0IETHE) 10,000 10,000 0
O8I atdHe At
10,000,000 10,000
= 5,000
Al 5,000
AAQNSEH(EEX) 19,231 21,167 1,936
[ 19,231
101 @124H| 300 0 300
= 300
M ORINZZ2NSE S 300 0 300
O=edy S284¢ 300,000 300
= 300
201 =3 6,431 8,031 21,600
< 6,431
01 AtR2t2|HI 2,400 4,000 21,600
OXYUsEH 28 S 2,400,000 2,400
s 2,400
03 A= SHI 4,031 4,031 0
OXYIEEH 28 S 4,031,000 4,031
= 4,031
301 EtE NS 12,500 13,136 AB36
= 12,500
11 AALEIXIES 2,500 2,200 300
OXADSEH HOIK DEH L S|
2,500,000& 2,500
= 2,500
14 0Bt 2a s 10,000 10,936 2936
OXZussd IArE 10,000,000 10,000
< 10,000




SN OIEIIED
M HYRAZHI(HLEIEL)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AY2LZHI(KEIHED) 857,059 843,062 13,997
= 300,961
= 28,833
Il 41,249
= 99,327
Al 386,689
Jl=23H 36,240 37,500 1,260
J123HI(0EIt=m) 36,240 37,500 1,260
202 048l 30,000 31,200 21,200
01 2L AL 30,000 31,200 21,200
OSE=EZ 0| 100,000 x25E * 12& 30,000
203 =] 6,240 6,300 260
M FA2HARFAI 6.240 6,300 260
OW &= 520,000 * 122 6.240
IR 2HHI(0EII=M) 820,819 805,562 16,257
= 300,961
[ 28,833
Il 41,249
< 99,327
Al 360,449
SHEQ SSEL SsSAHTELEMHIA 12| 22,600 42,126 A19,526
101 @124H| 14,803 37,014 N22,211
03 SR (RINAHA) 222+ 14,803 37,014 N22,211
O3R22 2L bl =& S
14,803,000& 14,803
4 HASFEESS 7,797 5,112 2,685
04 SR (RIH )22 BEE=RES S 7,797 1,200 6,597
022 PHRYLD Y IAND
7,797,000 7,797
S ST SSAHLBMHIA IAHI(EX) 57,666 54,820 2,846
= 28,833
Al 28,833
101 @124H| 57,666 50,332 7,334
= 28,833
Al 28,833
03 SRH(RINAHA) 222+ 57,666 50,332 7,334
O=):0 SSHY S=4E AHlA 2
¥ 57,666,000 57,666
[ 28,833
Al 28,833
COIASI 2 SRIE A el 22,600 22,600 0
101 e124d| 14,803 17,806 23,003
03 SR (RINHA) 222+ 14,803 17,806 23,003
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AT HEIED
T WHSYAM(018I1ED)
CHel: QIEA2AHI(0I A IS0 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=F2 2l2t] 14,803,000 14,803
M HA=FESS 7,797 4,79 3,003
04 SR (RIH)22N BEE=RES S 7,797 990 6,807
022x22N PEaRY =
7,797,000 7,797
COIASIZESXIRAY CIHHI(EX) 28,840 26,949 1,891
2 14,420
= 5,768
Al 8,652
101 21A4H| 28,840 26,949 1,891
= 14,420
= 5,768
Al 8,652
03 SRH(RINHA) 222+ 28,840 26,949 1,891
O=24 o2y & = 28,840,000 28,840
= 14,420
S 5,768
Al 8,652
Ols= XA A2l ArelAt 47,121 41,884 5,237
101 @124H| 47,121 41,884 5,237
03 BRA(RIH )22 U2+ 47,121 41,884 5,237
O=F% 22| 47,121,000 47,121
OlSEXIWAL AFBIE LRI (2 X) 203,816 197,497 6,319
= 101,908
= 40,763
Al 61,145
101 @12A4H| 180,488 178,057 2,431
= 90,244
= 36,008
Al 54,146
03 SR (RINAHA) 222+ 180,488 178,057 2,431
0Z2H 1232 L 42 S
180,488,000 180,483
= 90,244
== 36,098
Al 54,146
4 HSRESS 23,328 19,440 3,888
= 11,664
= 4,665
Al 6,999
01 d=2g3 9,072 7,560 1,512
O=2H d=2E=3 9,072,000& 9,072
= 4,536




od
i’
oF
uJ

-

KIO

Hlw

1,464

912

362
362
362
2,400

780

780

1,620

1,620

MEE
Ofl &k2h

7,320

4,560

56,339
56,339
56,339
128,000

113,600

113,600

14,400

5,760

5,280

Ofl &F2H

1,814
2,722

8,784
8,784

4,392

iy

Al

i

1,757
2,635

5,472

iy

5,472
2,736

Al

fir

1,094
1,642
56,701
56,701
56,701
56,701
130,400
104,320

H

Al

fir

H

13,040
13,040
114,380
91,504

Al

fir

H

11,438
11,438
114,380
114,380
91,504

Al

fir

H

11,438
11,438
16,020
12,816

Al

fir

1,602
1,602
5,760
5,760

4,608

H

Al

i

576
576
6,900
6,900
5,520

i

- HyS

- SRA(E) - HIRAY

S - B

8,784,000&

5,472,000

56,701,000&

101 e124d|

101 e124d|

114,380,000

5,760,000

6,900,000
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